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5§ 4?�4L D5F «&>�O7�µ<4?4�» >=O=O=O§ D>F>EG-
D5FV <5= >==4G FÝDFV5V= �4�47 55FV=5 F¯EVD75=. �44= 
>5=V= �474� %%$ �O?O< 4>445<<OEO=O§ >>DD5E?>=-
45=F <¯L5EV �. �µE45456 6¯D7V775= MF=>7D4D<O?O� 
75DFF5G?5DV =ÝF<65EV=45 «&>�O7�µ<4?4�FO§» F4E 
55FV=45 �4L4?O? E4?O=�4= F4§54?4DO F45O?�4=. 
�§ 4?�4L F>�O7�µ<4?4� 64=?O >VF4? 647�4= F¯D>VF4-
=GLO %. �<4=6>?>6 5>?�4=. �?, �474D55> &íF5=456-
FO§ «�474�FO§ µ?FFO� >=O=44DO» 4FFO >VF45O=44 
&4D54�4F4= F4GO=O§ %4=�4= 6>F4?4DO=O§ 5VDV=45, 
�>D6O=54= 64=?4GO=O§ 5F57V=45 64DF4E�4 E4-
?O=�4= F>�O7�µ<4?4� F4�F4EO 54D 5>5=V=. %>=O<5= 
�4F4D, ��Lµ�OD 4575= F4E Fí55=V§ ¯EFV=45, F57VE F4-
E�4 F>�O7�µ<4?4�FO§ >F4G?4DO <5= �474=44DO 
�4L4?O? E4?O=�4=O 64=?O 647O?�4=. �5<VE �4-
?O<44DO=O§ 75DFF5GV=L5 F>�O7�µ<4?4�FO§ 4 <O§ 
6O? 5µDO= �474�EF4= <5= �OD�O7EF4= 4G<4�O=44 
FµD�4= F4=?4?4D4O§ >=O=O 5>?�4=O= 4=F44O. �µ? 
>=O=4O «�>=LO?4D 4?755D4EO» 45? F5 4F4�4=, 
&>�O7�µ<4?4� >=O=O=O§ �47VD7V ¯?7VEV 1948 6O?O 
�4?O?F4EFO. �=O==O§ >?4EE<>4?O� 5D565EV= 64-
E4G44 �µEF4D ÜG57>6 ?5= �474� E4E=4EO=O§ <4�F4-
=OLO, �%$� E4?O� ÝDFVEV �4?<55> �G4=OL?456FO§ 
5§557V 7>D. 

&>�O7�µ<4?4� >=O=O§ 5D565EV.
&>�O7�µ<4?4� >=O=O 54EF4?4D44, ÝD >=O=LO-

=O§ F>�O7 >F4GO=44 F>�O744= 81 �µ<4?4�F4DO 5>-
?44O.

�=O=4O E>?44= >§�4 �4D4= 6¯DVE?5= >57 >5?-
75= >F4G44= 54EF4G�4 5>?44O. �? ¯LV= >=O=LO (4� 
64�O) 6¯DVE 64E4?4FO= >F4G44 5VD �µ<4?4� �4=4 
�4?4ODO?, 54E�4?4DO= F¯75?V<5= �>?O=4 4?44O 
44, >5?5EV >F4G44= 54EF4?, ÝD5VD >F4G�4 í7 64�O=O§ 
44, �4DEO?4EO=O§ 44 �>?O=44�O �µ<4?4�F4DO 5VF-
>5=L5 5VD-5VD45= E4?O? LO�44O. %>=44 5§ E>§�O 
E4?O=�4= �µ<4?4� �4DEO?4EO=O§ F4� E4=4O �µ<4-
?4�O 54D >57 >5?75= >F4GO=4 F¯EV?, E>? >F4G44�O �µ-
<4?4�F4D E4=O= 6µ? 64E4E4, (2, 4, 6, 8, 10. F.E.E.) 5µ? 
6¯DVE F45OEFO 5>?O? E4=4?O?, E>? >F4G44�O 54D-
?O� �µ<4?4�F4D4O í7 �474=O=4 E4?44O.

&>�O7�µ<4?4� >=O=O=44 �4DEO?4EF4D 4?-
<4->575> 6¯DV? >FOD44O. �4D4 64�FO§ <4�E4FO 44 
�4DEO?4EO=O§ F4� E4=4O 5VD >F4GO=4 í7V=V§ �>?O=-
44�O E>§�O �µ<4?4�O= F¯EVDV?, 6µ? 64E4?, E>? >F4G-
44�O �µ<4?4�F4D4O µFO? 4?G 5>?O? F45O?44O. �EO 
FÝDFV??5= 6¯DVE 4?<4->575> 4GOEFOD?O? >FOD44O.

�75D 6¯DVE >57V=45 >=O=LO?4D4O§ 5§ E>§�O �µ<4-
?4�O �4DEO 64�FO§ >57->5?75= 5VD >F4GO=4 F¯EV?,E>? 
>F4G44�O �µ<4?4�F4D E4=O= F4� 64E4E4 (1, 3, 5, 7, 
9, 11, 13.F.E.E.) =5<5E5, í7 64�O=O§ >F4G?4DO=O§ 
5VD5GV=45 F4� 6µ5O=4 �4D4<4= >5?V? F¯EV? 64FE4, 
64= 6¯DVE 64E4?44O 45? E4=4?O?, >? >F4G44�O �µ-
<4?4�F4D 5L5VD �474=�4 4?O=54=4O.

&>�O7�µ<4?4�F4 >==4GLO?4D4O§ 4?44DO=4 
�>OFO= =57V77V <4�E4FO->5< 4575=45 í7 �474=O=-
44 82 �µ<4?4� 6<=4?, �4DEO?4EO= µFO? LO�G. �>V 
64�FO§ 5VD45= µFGO, =5 µFO?GO <¯<>V= 5<5E.

�=O= 4O4�F4?�4= E>§ >=O=LO?4D4O§ �474-
=O=44�O �µ<4?4�F4D4O§ E>§O 81-45= 5>?E4, >=O= 
F5§ >=O= 45? 54�4?4=44O. &>�O7�µ<4?4�F4 F5§ 
>=O= 5>?GO=O§ 54EFO L4DFO 3 5VD 64�FO§  F4�F4 
55FV=45, Fµ74O�O=O§ 5>?GO.

&>�O7�µ<4?4� >=O=O=O§ <4F5<4F<>4<5= 
54=?4=OEO.

&>�O7�µ<4?4� >=O=O=O§ =57V7V <4F5<4F<>4-
?O� 5E5?F5G75 =57V745?75=. �4F5<4F<>4 ?Ý=V= >�O-
FG 54DOEO=44 «F4�» 6Ý=5 «6µ?» E4=44D F4�ODO-
5O= íFG >57V=45, >EO µ?FFO� >=O=O= >==4G 5D565EV 
4D�O?O  F¯EV=4VDV? >5FG75 5>?44O. &>�O7�µ<4?4� >=-
O=O «6µ?» E4=44D <5= «F4�» E4=44D4O§ «4=�4EO» 
D5FV=45 >íDE5FV?54V. «&>�O7�µ<4?4�» >=O=O >F4G-
?4D44�O �µ<4?4� E4=O=O§ «6µ?» =5<5E5 «F4�» 5>-
?GO=4 54=?4=OEFO 5>?�4=4O�F4=, >=O=LO «6µ?» 
6Ý=5 «F4�» E4=44D4O 4=OD4 5V?V? 6Ý=5 í7 >F4G-
?4DO=44�O �µ<4?4� E4=44DO= ÝD G4�OFF4 «6µ?» 
�O?O? >FODG�4 FODOE44O. 

�? �>EG 4<4?44DO=O F5D5§ <5§75DG75 F>�O7�µ-
<4?4� >=O=O=O§ �4=44= O�?4?O 54D? «&>�O7�µ-
<4?4�» >=O=O=44 5VD >=O=LO=O§ 6¯DVEV 5VFE5 >=O 
«4FEOD4G»45? 4F4=4O. �FEOD4�4= >=O=LO 81 =5<5-
E5 82 �µ<4?4� µFO? ̄ ?7VD<5E5 E>? >=O=LO 65§V?75=V 
5>?O? 5E5?F5?54V. %>=4O�F4= 5µ? >=O=44 6¯DVEFV 
E4=4= 5V?75= >=O=LO 65§VE>5 65F54V. �¯DVE E4=4G-
4O§ <4F5<4F<>4?O� Ý4VE - FÝEV?45DV= ?4=44?4=�4= 
>=O=LO F57 5E5?F5G75 <4LO�F4=44O. �=O= 54DO-
EO=44 E>§�O �µ<4?4� �4=44 F¯E5FV=V= 5V?G ¯LV= �>EG 
4<4?O= ?4=44?4=4<O7. �OE4?O 77 >F4G44�O 9 
�µ<4?4�FO§ E>§�OEO �4= >F4G�4 F¯E5FV=V= 5V?G ¯LV= 
>F4G =í<VDV 7-=V �µ<4?4� E4=O 9-�4 �>E4<O7. %>=44, 
7+9=16 5>?44O. 

�74=FG 4<4?O= �>?44=G 4D�O?O �µ<4?4�FO§ 
�4= >F4G�4 F¯E5FV=V= 5E5?F5? LO�4DG�4 5>?44O. �? 
¯LV= �>EO=4O=O§ <Ý=V=5 �4D4=<O7. �75D �>EO=4O-
=O§ <Ý=V:

2 <5= 10- =O§ 4D4EO=44�O E4=�4 F5§ 5>?E4 �>-
EO=4O=O§ <Ý=V=5= 1-4V 4?4<O7.

11 <5= 19 34O§ 4D4EO=44�O E4=�4 F5§ 5>?E4 �>-
EO=4O=O§ <Ý=V=5= 10-4O 4?4<O7. �=45L5 16-10=6 
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������ �?LOE �DFGD>6<G, 
?D5?>4464F5?L D<7<G5E>>= >G?LFGDO < E?5F<4?L=OE 4<EF<??<= 
'GD5645=<O «�>EF4=4=E><= E>F<4?L=>-F5E=<G5E><= >>??546»

�>46<6=O5 <7DO < MEF4D5FO <E?>?L7GNFEO =4 
74=OF<OE D<7<G5E>>= >G?LFGD>= 4?O ?>6OL5=<O >5- 
M5= D<7<G5E>>= ?>47>F>6?5==>EF< EFG45=F>6.

%<EF5<4F<G5E>< >D74=<7G5<O5 ?>46<6=O5 <7DO 
?D< ?D46<?L=>< ?D>6545=<< >>47O64NF ?>?> 6<-
F5?L=>5 6?<O=<5 =4 4<=4<<>G D<7<G5E>>7> D47 6<F<O 
74=<<4NM<EEO. �D5?>4464F5?N =5>5E> 4<<> >5D4M4FL 
6=<<4=<5 =5 F>?L>> =4 G<E?5==O= E>EF46 >><4=4, 
>>F>DO= 4>?65= 5OFL >4<=4>>6, => < =4 F>, GF>5O 
E<?O <7D>>>6 5O?< ?D<<5D=> >4<=4>>6O.

�D5?>4464F5?L 4>?65= 6>E?<FO64FL G EFG45=F>6 
E5DL57=>5 >F=>L5=<5 > ?>46<6=O< <7D4<. %?54G5F 
>5NOE=<FL, GF> F4 <?< 4DG74O <7D4 <<55F GG55=>-
FD5=<D>6>G=>5 7=4G5=<5. %>7=4F5?L=> 6O?>?=OO 
<7D> 6O5 7444=<O, 74=<<4NM<5EO 5G4GF 74=<<4FLEO 
?>4 6<6=O<< <7D4<< E ?>6OL5==O< <=F5D5E>< < 
?GGL5= 4<EF<??<=>=.

$4EE<4FD<64O ?>46<6=O5 <7DO < MEF4D5FO ?> 
?D<7=4>G >D74=<74F<< <7D4NM<E, <>6=> 6O45?<FL 
E?54GNM<5:

4) 557 D4745?5=<O >>??5>F<64 =4 >><4=4O (<7DO, 
>E=>64==O5 =4 ?D>EF5=L<E 674<<>>F=>L5=<OE <564G 
GG4EF=<>4<<);

5) E D4745?5=<5< >>??5>F<64 =4 >><4=4O (<7DO 
=4?D46?5==O5 =4 6>E?<F4=<5 >>??5>F<6=OE 45=-
EF6<=).

�7DO <>7GF ?D>F5>4FL 6 D47?<G=OE E>G5F4=<OE:
4) <7DO, 745 <<55F <5EF> 4>F<6=>5 54<=>5>DEF6>;
5) <7DO, 557 E>?D<>>E=>65=<O E E>?5D=<>><; 
6) <7DO-MEF4D5FO, 6 >>F>DOE 45=EF6<O >464>7> 

GG4EF=<>4 >4<=4>>6> =4?D46?5=O, E6O74=O E 6O?>?-
=5=<5< >F45?L=OE 7444=<=.

%>45D64F5?L=4O =4?D46?5==>EFL ?D4>F<G5E>>-
7> <E?>?L7>64=<O <7D>6>7> <4F5D<4?4 =4 74=OF<OE 
D<7<G5E>>= >G?LFGDO 74>?NG45FEO, ?D5645 6E57>, 6 
E?54GNM5<.

�E?< =4 ?D>6>4<<>< 74=OF<< D5L45FEO 7444G4 
D476<F<O E<?O, F> 6 =57> >G5=L 6O7>4=> 6>?NG4FL 
6E?><>74F5?L=O5 < ?>46>4OM<5 <7DO, E6O74==O5 E 
>D4F>>6D5<5==O<< E>>D>EF=>-E<?>6O<< =4?DO65-
=<O<< < E4<O<< D47=>>5D47=O<< D>D<4<< ?D5>-
4>?5=<O <OL5G=>7> E>?D>F<6?5=<O ?D>F<6=<>4 6 
=5?>ED54EF65==>< E>?D<>>E=>65=<< E =<<. �E =>6-
=O5 E>45D64F5?L=O5 >><?>=5=FO F4><E <7D 6>?N-
G4NF 6 E55O D47?<G=O5 ?D<FO7<64=<O, EF4? ><64=<O, 
G45D64=<O, 6OF4?><64=<O, M?5<5=FO 5>DL5O, FO-
65?>= 4F?5F<><, 4D<D5EF?<=74 < F.4. �5EL<4 MDD5>-
F<6=O<< 4?O D5L5=<O 44==>= 7444G< >>4 7O64NFEO 
F4>65 46<74F5?L=O5 >?5D4F<< E 4>EFG? =O<< <7D4N-
M<< >FO7>M5=<O<<, =4>?>=O, ?D< E544=<O, >F6< <4-
=<O, ?>4N5<O, ?>6>D>FO, 6D4 M5=<O, 557 <?< ?DO6><.

�?O D476<F<O >4G5EF64 5OEFD>FO E?54G5F ?>4-
5<D4FL <7DO, FD55GNM<5 <7=>65==OE >F65F =OE 
D54>F<= =4 7D<F5?L=O5, 76G>>6O5 <?< F4>F<?L =O5 
E<7=4?O. -F< <7DO 4>?6=O 6>?NG4FL 6 E55O D<7<-

G5E><5 G?D46=5=<O E ?5D<>4<G5E><<< GE>>D5=<O-
<<, 6=574?=O<< >EF4=>6>4<<, EFD5<<F5?L =O<< DO6-
>4<<, <7=>65==O<< 7445D6>4<<, 557>< =4 >>D>F ><5 
4<E F4=F<< 6 >D>FG4=L<= ED>> < 4DG7<<< 46<74-
F5?L=O<< 4>F4<<, =4?D46?5==O<< =4 E>7=4 F5?L=>5 < 
F5?5GEFD5<?5==>5 >?5D565=<5 E>?5D=<>4.

�?O D476<F<O ?>6>>EF< =5>5E>4<<> <E?>?L7> 64FL 
<7DO, FD55GNM<5 ?D>O6?5=<O F>G=>= >>>D 4<=4F<< 
46<65=<= < 5OEFD>7> E>7?4E>64=<O E6><E 45=EF6<= 
E ?4DF=5D4<< ?> >><4=45, >5?444=<O >? D545?5==>= 
D<7<G5E>>= E=>D>6>>=.

�?O D476<F<O 6O=>E?<6>EF< =44> =4E>4<FL 
<7DO, E6O74==O5 E 74654><> 5>?LL>= 74FD4F>= E<? 
< M=5D 7<<, E G4EFO<< ?>6F>D5=<O<< E>EF46=OE 46<-
74 F5?L=OE >?5D4F<= <?< E ?D>4>?6<F5?L=>= =5 ?D5-
DO6=>= 46<74F5?L=>= 45OF5?L=>EFLN, >5GE?>6 ?5==>= 
?D46<?4<< ?D<<5=O5<>= <7DO.

�7DO 4?O D476<F<O D<7<G5E><E >4G5EF6.

�>46<6=O5 <7DO E M?5<5=F4<< 54E>5F5>?4.
�46=5=L<< >><?>=5=F>< F5E=<>< <7DO 6 54E-

>5F5>?5 O6?O5FEO G<5=<5 ?5D5<5M4FLEO ?> ??> M44>5, 
4?O F>7> GF>5O 74=OFL G4>5=GN ?>7<F<N, >F>D64FLEO 
>F E>?5D=<>4 <?< =4>5>D>F ?D5E?54>64FL 57>. -F> 
G<5=<5 6 E6>N >G5D54L O6?O5FEO E>D>L5= >E=>6>= 
4?O G65D5==OE 45=EF6<= E <OG><. � ?>46<6 =OE <7-
D4E =5D54>> E>G5F4NFEO D47?<G=O5 45=EF6<O E ?5 D5-
<5M5=<O<< < D5L5=<O<< DO44 F5E=<G5E><E 7444G.

�7D4 «�DG7>64O ?4?F4».
&5?L: ?5D544G4 < ?>6?O <OG4.
�=65=F4DL < >5>DG4>64=<5: 6>?5=5>?L=O= <OG.
�>47>F>6>4: ?>EFD>5=<5 F>65, GF> < 6 ?D54O-

4GM5= <7D5, => D>?< <7D4NM<E <=O5: =4E>4OM<5EO 74 
?<=<5= <7D>>< 3 6>4OM<5, 6 E5D54<=5 74?4 3 <7D>><. 
�>4OM<5 EF4D4NFEO ?>?4EFL <OG>< 6 <7D>>>6, >>F>DO5 
G65DFO64OEL <>7GF ?>6<FL <OG DG>4<<.

�?<E4=<5 <7DO: <7D>>, >E4?5==O= <OG>< <<55F 
?D4 6> 6ODGG<FL >4=>7> <7 6OL54L<E <7D>>>6.

�7D4 «�5D5EFD5?>4».
&5?L: D476<F<5 ?>6>>EF< < 5OEFD>FO.
�=65=F4DL < >5>DG4>64=<5: 6>?5=5>?L=O= <OG, 

7<<=4EF<G5E>4O E>4<5=>4.
�>47>F>6>4: =4 46GE ?D>F<6>?>?>6=OE EF>D>=4E 

??>M44><, ?4D4??5?L=> ED54=5= ?<=<< ?D>6>4OFEO 
?<=<< ??5=4 (<?< EF46OFEO E>4<5=><) =4 D4EEF>O=<< 

�/�/�&/ / ��&�$�%��
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5>?4FO=4O�F4=, 7-LV >F4G44�O 9 �µ<4?4�FO 6¯DE5>, 
�4DEO?4E 64�O=O§ 6-LO >F4GO=4 F¯E54V 5>5=. �µ? 
µFOE 6¯DVEV, O�=< 10 �µ<4?4� 4?O=44O. 

�¯DVE 5E5?F5G Ý4VEV �>EG, >í55=FG, 5í?G, 474=FG 
4<4?44DO 4D�O?O LO�4DO?44O. &í<5=457V ?>7<-
F<O44 ÝD >F4G44 1 �µ<4?4�F4= 5>?E4, >=44 =5L5 
6¯DVE 54D 5>5=V= F57 ÝDV 4Ý? 5E5?F5G75 5>?44O. %G-
D5FF57V �µ<4?4�F4D4O 79 >F4G�4 6<=4G >57V=45 7 
8 >F4G44�O �µ<4?4�FO§ 5VD 6¯DVEV 77 >F4G44�O �µ-
<4?4�FO§ 2 6¯DVEV F4�O E>? E<EO�FO 7 1 >F4G44�O 
�µ<4?4�FO§ 8 6¯DVEV 5>?4FO=O 55?7V?V, 5=45L5 54D-
?O�O =5L5 6¯DVE 5>?4FO=O= 5O?4= 5E5?F5=<V7. 

9 8 7 6 5 4 3 2 1

1 1 1 1 1 1 1 1 1

1 2 3 4 5 6 7 8 9

9-0 6¯DVE
8-1 6¯DVE
7-2 6¯DVE
6-3 6¯DVE
5-4 6¯DVE
4-5 6¯DVE
3-6 6¯DVE
2-7 6¯DVE
1-8 6¯DVE.
%>=44, 0+1+2+3+4+5+6+7+8=36 6¯DVE 5>?44O.

�í55=FG 4<4?O 4D�O?O 5E5?F5G 6>?O:  
1- >F4G44= 9->F4G�4 45=V= 9 >F4G 54D 5>5=V 4=O�. 

�¯DVE E4=O= <O=4 D>D<G?4 4D�O?O 5E5?F5=<V7:
(E*E-E)/2  �µ=44 E-4575=V<V7 >F4G E4=O. %>=44 

(9*9-9)/2=36 6¯DVE 5>?44O.

�?, >F4G?4D44 2 �µ<4?4�F4= 64FE4 <O=4 D>D-
<G?4 5>=O=L4 5E5?F5?54V:

E*E-E  �µ=44 44 E-4575=V<V7 >F4G E4=O. %>=44 
9*9-9=72 6¯DVE 5>?44O.

9 8 7 6 5 4 3 2 1

2 2 2 2 2 2 2 2 2

1 2 3 4 5 6 7 8 9

�47VD7V G4�OFF4 F>�O7�µ<4?4� >=O=O=44 ÝD 
>=O=LO�4 55?7V?V 5VD G4�OF 55DV?V?, >=O= G4�OFO 
«L5>F5G?V» 5>?44O. &>�O7�µ<4?4� >=O=O=44 6¯DVE 
64E4�4=44 E>§�O �µ<4?4�FO§ �4= >F4G�4 F¯E5FV=V= 
5E5?F5G4V§ 45 <4§O7O 7>D. �=O 5E5?F5G45 45 <4-
F5<4F<>4?O� Ý4VEF5DV 54D. �OE4?O ÝD >=O=LO44 
9 >F4G44= 5>?�4=4O�F4=, 6¯DVE 6¯D5FV= >F4G44 10 
�µ<4?4� 5>?E4, >=44 4�OD�O �µ<4?4� �4DEO?4-
EFO§ E>? 4FF4E >F4GO=4 F¯E54V. �OE4?O 74 >F4G44 
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